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QUADRATIC EQUATIONS

Exercise 4 1

1. Check whether the following are quadriatic

equations : 

(x + 1)
2

= 2(x − 3)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_W3qz7y1W3Z38


Watch Video Solution

2. Check whether the following are quadriatic

equations : 

Watch Video Solution

x
2 − 2x = ( − 2)(3 − x)

3. Check whether the following are quadriatic

equations : 

(x − 2)(x + 1) = (x − 1)(x + 3)

https://dl.doubtnut.com/l/_W3qz7y1W3Z38
https://dl.doubtnut.com/l/_rZ7tLhPH1oZr
https://dl.doubtnut.com/l/_HnKZcXfsg26D


Watch Video Solution

4. Check whether the following are quadriatic

equations : 

Watch Video Solution

(x − 3)(2x + 1) = x(x + 5)

5. Check whether the following are quadriatic

equations : 

Watch Video Solution

(2x − 1)(x − 3) = (x + 5)(x − 1)

https://dl.doubtnut.com/l/_HnKZcXfsg26D
https://dl.doubtnut.com/l/_Gqf9Vb911F3I
https://dl.doubtnut.com/l/_2DndIIXNtKBm


6. Check whether the following are quadriatic

equations : 

Watch Video Solution

x
2 + 3x + 1 = (x − 2)2

7. Check whether the following are quadriatic

equations : 

Watch Video Solution

(x + 2)3 = 2x(x
2 − 1)

https://dl.doubtnut.com/l/_2DndIIXNtKBm
https://dl.doubtnut.com/l/_YSJeRwxEmGqn
https://dl.doubtnut.com/l/_wNkRk3H7R8N6


Exercise 4 2

8. Check whether the following are quadriatic

equations : 

Watch Video Solution

(x + 2)3 = 2x(x
2 − 1)

1. Find the roots of the following quadratic

equations by factorisation : 

https://dl.doubtnut.com/l/_wNkRk3H7R8N6
https://dl.doubtnut.com/l/_ib14chkVqyTp
https://dl.doubtnut.com/l/_18fYDazBn0KQ


Watch Video Solution

x
2 − 3x − 10 = 0

2. Find the roots of the following quadratic

equations by factorisation : 

Watch Video Solution

2x
2 + x − 6 = 0

3. Find the roots of the following quadratic

equations by factorisation : 

https://dl.doubtnut.com/l/_18fYDazBn0KQ
https://dl.doubtnut.com/l/_RU5uDvho1lfa
https://dl.doubtnut.com/l/_NxvPEdI5hZEN


Watch Video Solution

√2x
2 + 7x + 5√2 = 0

4. Find the roots of the following quadratic

equations by factorisation : 

Watch Video Solution

2x
2 − x + = 0

1

8

5. Find the roots of the following quadratic

equations by factorisation : 

https://dl.doubtnut.com/l/_NxvPEdI5hZEN
https://dl.doubtnut.com/l/_fhlzq9dGbpxB
https://dl.doubtnut.com/l/_wGlEywxXFidO


Watch Video Solution

100x
2 − 20x + 1 = 0

6. Solve the problems given in Example 1 i.e .,

to solve 

 using factorisation

method .

Watch Video Solution

x
2 − 45x + 324 = 0

https://dl.doubtnut.com/l/_wGlEywxXFidO
https://dl.doubtnut.com/l/_7Gc1mbn5Clxp


7. Solve the problems given in Example 1 i.e to

solve 

 using factorisation

method .

Watch Video Solution

x
2 − 55x + 750 = 0

8. Find two numbers whose sum is 27 and

product is 182.

Watch Video Solution

https://dl.doubtnut.com/l/_sQh4G7YrzTOj
https://dl.doubtnut.com/l/_gUTBD0OWBDgr
https://dl.doubtnut.com/l/_UkMDqUagKhs9
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9. The altitude of a right triangle is 7 cm less

than its base. If the hypotenuse is 13 cm, find

the other two sides.

Watch Video Solution

1. Find the roots of the following quadratic

equations if they exist, by the method of

completing the square :  .

Watch Video Solution

2x
2 − 7x + 3 = 0

https://dl.doubtnut.com/l/_UkMDqUagKhs9
https://dl.doubtnut.com/l/_3I14bQRiDJFX


2. Find the roots of the following quadratic

equations if they exist, by the method of

completing the square :  .

Watch Video Solution

2x
2 + x − 4 = 0

3. Find the roots of the following quadratic

equations if they exist, by the method of

completing the square : 

.

4x
2 + 4√3x + 3 = 0

https://dl.doubtnut.com/l/_3I14bQRiDJFX
https://dl.doubtnut.com/l/_FLuuYSPJRTts
https://dl.doubtnut.com/l/_u8IoBb35iPsT


Watch Video Solution

4. Find the roots of the following quadratic

equations if they exist, by the method of

completing the square :  .

Watch Video Solution

2x
2 + x + 4 = 0

5. Find the roots of the following equations :-

 .

Watch Video Solution

x − = 3, x ≠ 0
1

x

https://dl.doubtnut.com/l/_u8IoBb35iPsT
https://dl.doubtnut.com/l/_RyE6zh8XbU7S
https://dl.doubtnut.com/l/_FFmXKmYdQgpb


6. Find the roots of the following equations :-

 .

Watch Video Solution

− = , x ≠ − 4, 7
1

x + 4

1

x − 7

11

30

7. The sum of the reciprocals of Rehman's ages,

(in years) 3 years ago and 5 years from now is

. Find his present age.

Watch Video Solution

1

3

https://dl.doubtnut.com/l/_FFmXKmYdQgpb
https://dl.doubtnut.com/l/_Bmjw8qY7Sj3a
https://dl.doubtnut.com/l/_aoOp6bW3Bhnp
https://dl.doubtnut.com/l/_R6eQW02RQEKg


8. The diagonal of a rectangular field is 60

metres more than the shorter side. If the

longer side is 30 metres more than the

shorter side, find the sides of the field.

Watch Video Solution

9. The difference of squares of two numbers is

180. The square of the smaller number is 8

times the larger number. Find the two

numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_R6eQW02RQEKg
https://dl.doubtnut.com/l/_1oYqwOcmZZ7n


10. A train travels 360 km at a uniform speed. If

the speed had been 5 km/h more, it would

have taken 1 hour less for the same journey.

Find the speed of the train.

Watch Video Solution

11. Two water taps together can fill a tank in

 hours. The tap of larger diameter takes 10

hours less than the smaller one to fill the tank

9
3

8

https://dl.doubtnut.com/l/_1oYqwOcmZZ7n
https://dl.doubtnut.com/l/_ChgFyNA3aVjb
https://dl.doubtnut.com/l/_Kd3TfLYODjHB
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separately. Find the time in which each tap can

separately fill the tank.

Watch Video Solution

1. Find the nature of the roots of the following

quadratic equations. If the real roots exist, find

them :-  .

Watch Video Solution

2x
2 − 3x + 5 = 0

https://dl.doubtnut.com/l/_Kd3TfLYODjHB
https://dl.doubtnut.com/l/_2UlFLgfmBcB3
https://dl.doubtnut.com/l/_jVxNYlmR2cJ6


2. Find the nature of the roots of the following

quadratic equations. If the real roots exist, find

them :-  .

Watch Video Solution

3x
2 − 4√3x + 4 = 0

3. Find the nature of the roots of the following

quadratic equations. If the real roots exist, find

them :-  .

Watch Video Solution

2x
2 − 6x + 3 = 0

https://dl.doubtnut.com/l/_jVxNYlmR2cJ6
https://dl.doubtnut.com/l/_NnJS5fyt4qDk
https://dl.doubtnut.com/l/_NBhvVkmtfdOq


4. Find the values of k for each of the following

quadratic equations, so that they have two

equal roots. :-  .

Watch Video Solution

2x
2 + kx + 3 = 0

5. Find the values of k for each of the following

quadratic equations, so that they have two

equal roots. :- kx(x-2)+6=0 .

Watch Video Solution

https://dl.doubtnut.com/l/_NBhvVkmtfdOq
https://dl.doubtnut.com/l/_nN02NZ1UsIvi


6. Is it possible to design a rectangular mango

grove whose length is twice its breadth, and

the area is 800  ? If so, find its length and

breadth.

Watch Video Solution

m
2

7. Is the following situation possible ? If so,

determine their present ages. The sum of the

ages of two friends is 20 years. Four years ago,

the product of their ages in years was 48.

https://dl.doubtnut.com/l/_gIrVUgGygcG9
https://dl.doubtnut.com/l/_DNnN0wm7suaS


Watch Video Solution

8. Is it possible to design a rectangular park of

perimeter 80 m and area 400  ? If so, find

its lehgth and breadth.

Watch Video Solution

m
2

https://dl.doubtnut.com/l/_DNnN0wm7suaS
https://dl.doubtnut.com/l/_ZXV6S04bSlgW

